% 2 = T B B M T &
MBEAR A ==— FHF=32Wx 20T (¥ 1= 5 2 18 9400
AEBR > | 2P 1E30AF20AT 100V RIT 5700(5890)
avey b & FHA2P 125V 15A S 2675(2343)
Ivevt €= ® (2P 125V 15A ZRE 2343
5YTTIARLY F @ 1P 300V 10A BERE HEE (BEHES)
0] & 70%377 Y73 TRREIBAA Y F E B 2RIF¥EY t=05
X H# MBIt = 4BTBIT : AF LY T — Lt =25
N B B - V0B 2P 30AF 20AT 100V BT BARL FMERIE = 02708 AFLY T 1 — Lt=25
1¢2;/\woov O mo/aveor z ThITy VI
9400 @] avevr A0 BIHIAKT 2L
(et 2) i ClEzE s Taramms D1z oo~ e
flg © e © B (BT | FHE—32Wx 2T x 128 (4 v /1= 5 — =)
EPSUEAF / / BETL -7 — 30Ax 4
15mA avey b 20fx8
it BT R Ik ? ? ? SMR3IR0 4B (BEBA3IERH)
2350 2350 2350 2350 B8 Q@) 07w, @ cor)o7-EET A . i 28 (fiE 20cm)
7RI, 2TLEMMOW% B, kS 6000kg
4 1720 - 1720 # B *x (% & )
BIHSAKT 3lE% (HL000)
. ko LATHRL
Y I—hTeL
F‘*‘;]‘ — ——— vl ,@ % ’\|
= =) N Q | wCli800
DD g 3 =1 o
el - . L o
- - — Lt — — = - - e ! 1662
‘ @ \ h @ \ o 1196 |2EEE3 - —
— = % T % S B s n FERR : Vv
E S N N FEERY
. xr— e e e CLpoo oo
™ FL
740
(@)
W o 3 P el
p2N) Ha 5% 5971
S = S = «©
S +2 r— T r— T r— T r— = =
i it
~ /74? ~
I~
7z
=
==
V% — T r— T r— T r—
) SR TP oD oY
, , &, D &, &,
_ _ _ _ ! _ _
22 BRI (TI—) 22
s~ i
$AO
BFHASRART7IRRIL
2246 A0 2246 D4 2246 D4 2246 _
9796
(FHATE)
7658 \ F187—0035s= =%/ \FH/\IIFEIT 4— 14— 12 =E: B B34 NnE= XNm@mNO
w2 CT—5H4J4E M 1 6FEFE N ?/\ =28 e KSTE = BaE . T
- lecubelkz\ =%t |
wE ] 042-312-3905 =RD] B 1t Bﬁ@ 10 7= o | 001
SR EESATEES 3089351008546 / “ !




